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oK # X A HEH 5 £ it

001 T & B 512 529 638 1,167
002 a x iy} 708 777 804 1,581
03| + #H H fr 360 336 317 653
004 | = % i) 956 1,134 1,070 2,204
005 | X R i) 707 784 852 1,636
006 | £ & F M 1,316 1,500 1,439 2,939
007 | #& B i) 161 228 189 417
008 | 5 it i) 782 862 920 1,782
009 | K & i) 562 718 725 1,443
010 | & H i) 1,188 1,479 1,551 3,030
ol | £ B F H 735 840 871 1,711
012 | # i) 905 1,094 1,253 2,347
013 | 3h H i) 559 690 752 1,442
014 | & R i) 845 1,000 1,027 2,027
015 | & BX i) 112 130 159 289
061 XRHE—TH 30 29 19 48
062 | X B —TH 223 198 194 392
063 | XFEHET=TBH 13 30 38 68
064 | XFHETMWTH 92 81 114 195
0711 | X% AE—TH 34 30 35 65
072 | £HBABR_-TH 230 222 192 414

A

a-F| # X £ ks 3 = g
081 mE — TBH 0 0 0 0
082 | M BT — T B 27 760 83 843
083 | M8 BT = T H 151 142 154 296
091 | Az BT — T B 77 74 95 169
092 | s BT = T B 82 231 374 605
101 A E—TBH 103 103 94 197
111 +tEHE—TEH 106 126 114 240
112 +TESHEZ-TH 81 65 63 128
113 +LTESHE=TH 96 98 107 205
114 | FEHBWTH 156 147 165 312
115 | FEHBATH 142 119 153 272
116 | FEHBEIATH 142 121 135 256
117 | rEHBETH 123 131 154 285
118 | +EHBEIATEH 163 155 148 303
121 EBFH—TH 70 63 79 142
122 EBFHM_-TH 52 67 67 134
123 EBFH=TEH 66 61 76 137
124 | EBEFEOEOTA 67 70 53 123
125 | EBEFEATH 85 96 98 194
126 | EEFEIATH 141 123 122 245
127 | EBFELETH 132 90 142 232

& it 13,092 15,533 15,635 31,168




